Operations with Senary Numbers (A)

12354
X 446

354)233101;

4444,
— 35304

1214
+ 2014

334)2315504

Calculate each answer.

3544

— 3322

4124

+ 25b1¢

102354

— 352

1312

X 45

10134

— 1004

52106

— 31354

54)35144

30234

— 2452

454)112235

21114

X 354

24)12304¢

51256
X 36

5450¢
— 3536

254)144051¢

344)1342104
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Operations with Senary Numbers (A) Answers

12354
X 446

1041524

4015
354)233101

4444,
— 35304

514,

1214
+ 2014
322

4214
334)2315504

Calculate each answer.

3544

— 3322

222

4124

+ 25b1¢

111154

102354

— 352

5443

13124
X 45

112324

10134

— 1004

5130¢

52106

— 31354

20314

404

54)35144

30234

— 2452

131,

1311,

454)112235

21114
X 354

122325

3114
244)12304

51256
X 36
23423

54504
— 3534
5053

3435
254)144051¢

2353
344)1342104
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